CS 337 Pop Quiz 1 3/24/06

Problem A pointin two dimensions is a pair of coordinates; assume that we are deal-
ing with only integer coordinates. Write a function that takes two points as arguments
and returnsTrue iff exactly one of the coordinates; or y, of the points are equal.
Here is what | expectréyl is the name of the function).

Main> rayl (3,5) (3,8)
True
Main> rayl (3,5) (2,5)
True
Main> rayl (3,5) (3,5)
False
Main> rayl (3,5) (2,8)
False

Solution

rayl (xy) (p.9) = ((x==p) |l (y==q)) && ((x/=p) || (y/=q))



